SNOWBLOWERS P-8601V & P-9201V

REF.

=N
QWO NOUBRWNNNN- -

NDNDNN DA A A A A A A
N_2O0OO0WoO~NOOOP,WN-O

23
24
25
26
27
28
29
30
31
31
32
33
34
35
35
36
36
36
36
37
38
39
40
41
42
43
44
45
46
47

PART #

120-06701
120-06311
140-00812
140-00832
140-15041
140-15051
319-38280
120-03954
D-600-51
51472
25TR08
8149
300-38310
110-21091
110-21081
8374
110-10271
110-02402
Std.

9688
300-38250
346-45000
376-44000
300-38310
110-16481
Std.

FD207
SAG207-20

SAGFD207-20-C

160-03942
160-26511
190-01401
300-46400
110-01052
160-06511
110-07272
110-07273
9287
150-00332
300-32220
300-32310
300-32340
110-18822
110-18823
110-05972
110-05973
6466
300-40280
190-01491
8199
MLH-315
8369
130-08162
300-36280
323-36160
110-44331
300-38400

DESCRIPTION QTY
P-860IV P-9201V
Frame for P-8B 01V ... 1 -
Frame for P-9201V ... - 1
Standard steel reversible scraper blade 1/2" x 4" x 84 1/2" Ig ....cccoviiiiiiiiinnnn.
Standard steel reversible scraper blade 1/2" x 4" x 90 1/2" Ig ...covviviiiiiiiiinnn. - 1
Stainless steel reversible scraper blade 1/2" x 4" x 84 1/2" 1g c..ccvvviiiiiiiiiiinnn. opt. -
Stainless steel reversible scraper blade 1/2" x 4" x 90 1/2" 1g c.coevvviiiiiiiiiiinan, - opt.
Plow bolt 7/16" NC x 1 1/4" Ig + nut & lockwasher.....................ooiiiinnn.
Semi-industrial ChUTe ...
PN X 3 s
Hitch pin Clip (CP1B2H) ..o e
Cylinder 2.5" x 8" standard ...........cccooiiiiiiiiii
U-shaped UHMW £ 14" §.d. oo
Bolt 7/16" NC x 1 1/2" Ig + two-way locknut ............ccoooiiiiiii
Chain QUAId COVET ....uiiitit e et e
Chain QUAND COVET ....uitititit e e e e ae
Adjustable clamp fastener (Welded) ........cooiiiiii
Threaded tube for idler adjustment ...
Threaded rod for idler adjustment + nut 7/16" NC............ooiiiiiiiiiiiiiias
Grease fitting 1/4"-28 90 ... .o
(070] 0] o] (=5E] o] 1] o] 40T [P PP
Bolt 7/16" NC x 1" Ig + nylon locknut ...
Nylon locknut 5/8" NC thin ... e
Flat W asher 578" .. .
Bolt 7/16" NC x 1 1/2" Ig + nylon locknut ............cooiiiiiiiii e
Chain QU ... e e
Grease fitting 1/4"-28 straight ...
Flange (for 2 grease fitting) .........cooriiiiiiiii i
Bearing 1 1/4" with eccentric collar ..o e
Bearing 1 1/4" + flange & 2 grease fitting (straight) + eccentric collar...............
Spacer 1 1/4" i.d. x 1 5/8" 0.d. x 5/32" thick .........coiiiiiiiiii,
Brass bushing 1" i.d. x 1 1/2" 0.d. X 13/32" Ig «.oeiiiiiiiii e
Chain no. 80 x 71" Ig (71 links) + offset link & connecting link .......................
Bolt 3/4" NC x 3" Ig (soudé) + nylon locknut .............ccccooiiiiiiiiiieee
T PP
Spacer 3/4 i.d. X 1 1/4" 0.d. X 3/4" 1g ceiniiiii e
Sprocket 80A10 + shearplate (incl. #21 & 26) (up to serial #35730)...............
Sprocket 80A10 + shearplate (incl. #21 & 26) (from serial #35731 and up) .....
Idler SProCKet #80 . ..o
IAlEr ClEVIS PIN et e
Bolt 1/4" NC x 3/4" Ig + nylon locknut + 2 flat washers ................................
Bolt 1/4" NC x 1 1/2" Ig + nylon locknut (up to serial #35730) ...........ccccneen..
Bolt 1/4" NC x 2" Ig + nylon locknut (from serial #35731 and up)...................
Auger drive shaft 32 13/16" Ig overall (incl. #21 & 37) (up to serial #:5730) .....
Auger drive shaft 32 13/16" Ig overall (incl. #21 & 37) (from serial #35731 and up)
Auger drive shaft 35 13/16" Ig overall (incl. #21 & 37) (up to serial #35730) .....
Auger drive shaft 35 13/16" Ig overall (incl. #21 & 37) (from serial #35731 and up)
Splined adaptor 1 1/4" - 19 splines (welded) ...........ccoiiiiiiiiiiii e,
Bolt 1/2" NC x 1 1/4" Ig + 10CK Washer .........cccoiiiii e
Gear box T27D MOdified ...
Adjustment plate for gear box + 4 nuts 1/2" NC ........ccooiiiiiiiiiiii
Hydraulic Orbit motor with cushion valve ..................ocoii
Key for hydraulic MOtor ... ... e
L TE =T o
Bolt 3/8" NC x 1 1/4" Ig + square weld nut 3/8" NC + lock washer ................
Hexagonal socket set screw 3/8" NC X 3/8" Ig ...ovvviviriiiiiiiiieee e
Sprocket 9 t00th ...
Bolt 7/16" NC x 3" Ig + nylon locknut ............ccoiiiiiiiii e

-20 -

AR RN ©
f Ao bAAN—~~O™

A A A AN A AN, NNANN A a2, RN A AN AN A A

A A A A A AN A2 N2 NN AN, A a0, R 2 AN AN A A
1 1

N-=2PNDNN_E 2 A a0 -
N-_2PNDNN A A a0 A



